[ Efficiency vs vertpos |

~0.02

.018F

2 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFiti100i0__RECO

Efficiend —— pom_v0001_R000000001__Global__mkFiti1000mod__RECO

~ 0.021

018
@ E : : : : :
20.016f------ SRR PR R P
3 E : : : : :
$.014------ R FER

5 E : : : :
$.012---- R

o E : : : :

0.0+ A I EAR

e R O R (IR

0006
0.004F----- A DO ...... IR AR
0.002F -5 -++f{-+1 + ----- b * 1NN

Vs

Ratio

0.95!

30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.0

S Trre E = S WD .

0-8 6 -4 2 0 2 4 6 8 10

Sim. PV z (cm)



	Contents
	Page 1


